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The Equation 1 =2 [
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a="hb
a? =ab
a’ — b =ab- b
(a —b)(a+b) =bla—b)
{a—b)(a +b) = bla—b)
(a+b)=0b
but a =10
therefore :
ata=a
2a=a

hence
2=1

However, this results in dividing by (), because q — b = g —q = ()

EDIT:

Your nistake comes in step 5, when you divided by (x-y) on both sides.
Since x =y, x-y = 0, so you are dividing by zero, which is undefined
(illegall).

Source: http://mathforumorg/library/drmath/view 55792. ht m

Categories: Mathematical paradoxes \ _

About

Community Central

Careers

Advertise

AP

Contact Wikia

Terms of Use

Privacy Policy

Content is available under CC-BY-SA.

[T Lifestylel[ T Entertainmen{ [T Video Games|




